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ENGLISH

Choose the correct option:
Q1- To which world does the story take the readers to?
A) future world B) past world C) present World D) future world where computers
will play a major role
Q2- What is Virtual Reality?
A) heavenly world B) imaginary world C) reality created by computer software D) none
Q3- What is a Virtual Classroom?
A) class outside classroom B) class in the garden C) class in the field D) where learning
done is through computer software and internet
Q4- What is a Debate?
A) a contest to show ability in arguement between two people
B) contest to fight
C) contest to prove better D) none
Q5- What does the poem speak about?
A) about the plight of roads B) about the people  C) about two roads
D) about the choices made by people
Q6.At what point in the fair did the child lose his parents?
A. At the sweetmeat shop
B. At the flower shop
C. Atthe balloon sellers
D. Atthe roundabout
Q7- What do the road signify in the poem?

A) the path or choice that was left or was not chosen to tread B) The pathway
C) pathway on the roadside D) a road with two
turns

Q8- Which thing decides a person’s future according to this poem?

A) the path one chooses to walk B) the path one leaves behind
C) the regrets D) the success

Q9When was Evelyn’s deafness noticed?

A) when she was 18 B) when she was 19

C) when she was 8 D) none

Q10- When was Evelyn’s deafness confirmed?

A) by the age of 5 B) by the age of 6

C) by the age of 8 D) by the age of 11

11. What did Margie write in her diary?

12. Had Margie ever seen a book before?

13. What subjects did Margie and Tommy learn?

14. Where does the traveller find himself? What problem does he face?

15. Is there any difference between the two roads as the poet describes them




16. What does the poet mean by ‘yellow wood’?

17. Explain: ‘leaves no step had trodden black’.

18. What is the theme of the poem The Road Not Taken?

19. What is the main problem or the dilemma of the poet?

20. Where did Bismillah Khan play the shehnai on 15 August 1947? Why was the event
historic?

21. Why did the lost child refuse to take his favourite things in the fair after losing

his parents?

22. The kind-hearted stranger tried his best to calm down the lost child but failed. Why
did the child remain inconsolable?

23. You went on a trip to Kerala. Write a diary entry describing the trip, how you went,
itinerary, places visited and the overall experience.

24. You met your old friend in the market today after five years. Write a diary entry
expressing your thoughts and emotions on the meeting.

25. Write a story using the given outlines

Mr. Aggarwal - - -wealthy businessman - - -one day - - -alone - - -sitting at his

dining table- - - heard - - - footsteps - - - man behind - - - curtains- - -

MATHS

General instructions:

No.1 to 10 are of MCQ type questions.

No. 11 to 20 are short answer type questions.
No.21 to 25 are long answer type questions.

1 The rational number 0.3 can also be written as

3 1
@ 03  (b) 10 (c) 0.33 @ 3

2. If the decimal representation of a number is non-terminating, non-repeating then the number is
(@) anatural number (b) arational number (c) a whole number (d) an irrational number

3. The square root of which number is rational

@ 7 (b) 196 (c) 0.04 d 13
1 2
4. A rational number between 7 = 7 is
i 2 5 5
@1 (21 () 14 d) 21

5. The number (3—+3)(3+43) is

(@) anirrational number (b) a rational number (c) not a natural number (d) whole number

6. On simplifying (J§+ﬁ)2. we get
@ 12 (b) Y35 (c) VB+VT  (d) 12+235

7.1dentify the polynomial
1

@) x2+x1+5 (b) ¥*+5Mx+T () 3 d) 3x2+7
8. The value of k, if (x — 1) is a factor of 4x3 + 3x? —4x + k, is

@ 1 () 2 (c) -3 (d) 3
9. The number of zeros of X% + 4x + 2

@ 1 (b) 2 (c) 3 (d) none of these

10. The degree of polynomial p(x) = x + Vx? +1s




@0 ® 2 @ 1 (@ 3
(_V3-42 andy=~/§+\15,
11 1f V3+42 V3 -2 find the value of X% +y? + xy.
x=2—\'{5T and y=2l/_§.
12. If  2++5 2—+/5" find the value of x% - y2,

13. Determine rational numbers p and q if

ﬂ_ﬂ=p_7\/§q_
7-v5 7+45
14. Convert 281.313131...... into p/q form.
3WV2 23 a3

15. Simplify: ¥6 -3 V642 62
16. Show that x + 1 and 2x -3 are factors of 2x® - 9x? + x + 12.
17. If f(x) = 5x2 — 4x + 5, find f(1) + f(-1) + f(0)
18. Factorise each of the following polynomials: x3 + 13x2 + 31x - 45 given that x + 9 is a factor.
19. What is the value of k in polynomial x2 + 8x + k , if x = -1 is a zero of the polynomial?
20. Find the values of a and b such that x = a and x = -1 are zeroes of f(x) = x3+ 2x2 -5x + b.
1 1 1 1 1
21, Showthat: 3-VB V87 NT—v6 V66 52

22. If: JP+q-4p-q ' then find the value of qx? — 2px + q.

14
X+ —|.
23. 1f x =2 + 342, then find the value of( X J

24. Show that 1 1 1

142070448 14230704y CC

142070448

25.1f (x-1) is a factor of f(x) = x® — 4x2 + x + 6, then find the other factors.

SCIENCE

PHYSICS
Mca
1. What would be the displacement of a particle moving in a circular path of radius r
after a displacement of half a circle?

a. 2nr
b. mr
c. 2r
d. Zero
2. The path length travelled by a body in a given time interval is knownas
a. Distance
b. Velocity
c. Acceleration
d. moment
3 Velocityis definedas __ per time.
a. Distance

b. displacement
c. power
d. acceleration




2 MARKS

1. Which of the following is true for displacement?

(a) It cannot be zero.

(b) Its magnitude is greater than the distance travelled by the object.

2. Usha swims in a 90 m long pool. She covers180 m in one minute by swimming
from one end to the other and back along the same straight path. Find the
average speed and average velocity of Usha.

3. Atrain starting from a railway station and moving with uniform acceleration
attains a speed 40 kmh-1 in 10 minutes. Find its acceleration

LONG QUESTIONS

1. (a)An object has moved through a distance. Can it have zero displacement? If yes,
support your answer with an example.

(b) A farmer moves along the boundary of a square field of side 10 m in 40 s. What will
be the magnitude of displacement of the farmer at the end of 2 minutes 20 seconds from
his initial position?

2.(a) Difference between Speed and Velocity

(b) When will you say a body is in

(i) Uniform acceleration?
(ii) Non-uniform acceleration
(BIOLOGY)

1.Define cell.(1)
2.Name the scientist who discovered cell. (1)
3.Name the person who coined the term cell.(1)
4.Mention the composition of cell membrane.(1)
5.Give reason: (2) i.plant cells are resistant to bursting. ii.cell membrane is called
semipermeable.
6.Explain the term plasmolysis and the conditions needed for it.(2)
7.State any two functions of nucleus.(2)
8.Differentiate between prokaryotes and eukaryotes,with examples.(3)
9.Mention the difference between SER and RER with respect to their structure and
function.(3)
10.i.Define a gene.
ii.When do chromosomes appear in a cell.
iii.Explain the structure of nucleus with diagram.(1+1+3)
11.i.Name the molecule known as energy currency of the cell.
ii.Describe the special feature of mitochondrial membranes.
iii.Give reason -Lysosomes are called suicidal bag of the cell.(1+2+2)
CHEMISTRY
1. CO; can be easily liquified and even solidified because
(a) It has weak forces of attraction
(b) It has comparatively more force of attraction than other gases
(c) It has more intermolecular space
(d) Itis present in atmosphere.
2. The colour of vapours formed on sublimation of iodine solid is
(a) Purple (violet)
(b) Colourless
(c) Yellow
(d) Orange
3. Which of the following does not affect rate of evaporation?




(a) Wind speed
(b) Surface area
(c) Temperature
(d) Insoluble heavy impurities
SHORT ANSWER TYPE QUESTIONS
4. Give reasons for the following observation:
The smell of hot sizzling food reaches you several meters away, but to get the smell

from cold food, you have to go close.
5. Adiveris able to cut through water in a swimming pool. Which property of
matter does this observation show?
6. A gasfills completely the vessel in which it is kept.
7. How is the high compressibility property of gas useful to us?
LONG ANSWER TYPE QUESTIONS

Answer the following.
8. Tabulate the differences in the characteristics of matter.

9. Comment upon the following: rigidity, compressibility, fluidity, filling a gas
container, shape, kinetic energy and density.

10. Liquids generally have a lower density than solids. But you must have observed
that ice floats on water. Find out why.

SST

SECTION-A
Q1. On 17th July 1789 the city of Paris was in a state of alarm because

a) The king had ordered the army to open fire upon the citizens in reality.

b) Rumours spread that the king would soon order the army to open fire upon the citizens
c¢) There was a foreign attack on the citizens

d) The earth quack struck Paris at that moment.

Q2. Assertion (A): The national assembly held long debates about whether the rights of
man should extended to all French subjects including those in the colonies.

Reason (R) Throughout the 18th century there was criticism of slavery in France.

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true but R is not the correct explanation of A

c) A is true but R 1s false.

d) A is false but R is true.

Q3. Which of the following were the two leaders of National Assembly of France

a). Mirabeau and Voltaire. ¢). Mirabeau and Montesquieu.
b). Mirabeau and Rousseau. d). Mirabeau and Abbe Sieyes.
Q4. Choose the correct option from column I and II.
Column I Column II
A | Livre I | Unit of currency in France
Tithe IT | Tax to be paid directly to the state
Clergy II | A tax levied by the Church
|
D | Taille I | Group of persons invested with special functions in the C
\4




(A) a-i, b-ii, c-iii, d-iv (C) a-i, b-iii, c-iv, dii

(B) a-ii, b-i, c-iv, d-iii (D) a-iv, b-i, c-iii, iv-ii
Q5. The term 'democracy' originated from which Greek word?

(A) Demoskrati (C) Democracia

(B) Demokratia (D)Kratia R

Q6. Assertion (A): Democracy is a form of government in which the rulers are elected by
the people.

Reason (R): Democracy is people's rule.

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true but R is not the correct explanation of A

c) Ais true but R is false.

d) A is false but R is true

Q7- Assertion (A) India is the 6" largest country of the world.
Reasoning (R) India accounts 4.3% of total earth.
A. Both A and R are true and R is the correct explanation of A .
B. Both A and R are true but R is not the correct explanation of A
C. Aistrue but R is false
D. Both A and R are false

Q8- Assertion (A) - 82°30’ longitude is selected as India’s Standard meridian.

Reasoning (R) - It almost passes through the middle of the country. So it is selected to
avoid the problem of local times.

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true but R is not the correct explanation of A
C. Ais true but R is false

D. Ais false but R is true

Q9. What percentage of the population in Palampur is engaged in non farmed activities?

A. 10%
B. 25%
C. 50%
D. 75%
Q10. What is the main source of income for landless labourers in Palampur?
Agriculture
Dairy farmimg
Weaving
Daily wages

ocawp

SECTION-B

Q1. Why was treasury empty when Louis XVI ascended the throne of France?

Q2. Why did the French government increase the taxes?

Q3. What is meant by subsistence crisis?

Q4. Define Democracy.

Q5. Why can’t the democratic set-up in China be called a true democracy? Explain.
Q6. What is the literal meaning of democracy? What meaning was given by Abraham
Lincoln.

Q7. What is the latitudinal and longitudinal extension of India?

Q8 . Name the latitude which divides India into two equal parts?




Q9.What is the main economic activity in Palampur? What are some other non-farming
activities?

Q10. What are the main differences between fixed capital and working capital? Give
examples of each.

SECTION-C

1. Describe the role of philosophers like John Locke, Rousseau, Montesquieu in the
French revolution.
2.'A growing middle class in France during the 18th century envisages an end to
privileges.' Analyse the statement.

3. What are the main differences between fixed capital and working capital? Give
examples of each.

4. "India has a large coastline which is advantageous." Explain.

5.. Describe the primary production activity in Palampur and its main features.
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A|/|'|' 1. List the different types of verbal communication. Include examples for each verbal
communication type.

. List the advantages and disadvantages of verbal communication.

. Explain non-verbal and visual communication and their importance.

. Identify different types of non-verbal communication.

. Explain the importance of feedback.

. Identify the common barriers to effective communication.

. List ways to overcome barriers to effective communication.

. Explain the usage of the different parts of speech.

. Explain the communication process along with all the communication elements.
10. What are the 7 C's of communication ?
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